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,9�'DXJDYDV�NDXVV�SHOGƝãDQƗ�DWNOƗWƗ�ǌGHQƯ
5ƯJD�����������

(YHQW�� ���P�)UHHVW\OH 2SHQ
������������������ ���P�EUƯYDLV�VWLOV 5HVXOWV

5DQN 1DPH <% 7LPH

���\HDUV�DQG�\RXQJHU��*LUOV

�� $36(1,(&(�$QQD �� -HOJDYDV�636 /$7 �������
�� .8'(ƹ.,1$�9DOHQWƯQD �� 6.�6SDUV�0. /$7 �������
�� 6$/$-(9$�(OƯQD �� 6.�'HOILQV /$7 �������
�� Ɩ%(/(�1DGƯQD �� =LHSQLHNNDOQD�SHOGEDVHLQV /$7 �������

'16 $36(1,(&(�/DOD �� -HOJDYDV�636 /$7
'16 9(5'(1+2)$�6DUORWH �� 6DODVSLOV�QRYDGV /$7

���\HDUV�DQG�\RXQJHU��%R\V

�� .5$03(�(PƯOV �� 5ƯJDV�SLOVƝWD /$7 �������
�� 5,0(16216�7LPRIHMV �� %-66�5LG]HQH�=,(3 /$7 �������
�� 0$786(9,&6�7RPDVV �� 5ƯJDV�SLOVƝWD /$7 �������
�� =,98+,16�5REHUWV �� 6.�6SDUV�0. /$7 �������

��������\HDUV��:RPHQ

�� *$,'$0$129$�-HNDWHULQD �� %-66�5LG]HQH�=2/ /$7 �������
�� .2/,'=(-$�'DQD �� 5ƯJDV�SLOVƝWD /$7 �������

%ULGLQƗMXPV��

�� .$5$6.(9,ý$�6DPDQWD �� %-66�5LG]HQH�=2/ /$7 �������
�� 7,0(50$1(�'LƗQD �� -HOJDYDV�636 /$7 �������
�� *,*2/$�$QQD �� 0LQVN %/5 �������

'16 02578=Ɩ1(�/DXUD �� 5ƯJDV�SLOVƝWD /$7
'16 %/,&Ɩ1(�6LQGLMD �� ƶƯSVDODV�SHOGEDVHLQV /$7

��������\HDUV��0HQ

�� $8'=Ɯ9,&6�-ƝNDEV �� -HOJDYDV�636 /$7 �������
�� 6/,6Ɩ16�'ƗYLV �� 2JUHV�SLOVƝWD /$7 �������
�� 02578=Ɩ16�(PƯOV�3DXOV �� 5ƯJDV�SLOVƝWD /$7 �������
�� $8'=Ɯ9,&6�3DXOV �� -HOJDYDV�636 /$7 �������
�� .2/(61,.296�'DQLHOV �� 5ƯJDV�SLOVƝWD /$7 �������
�� -$1.$86.$6�-XVWDV �� 6LDXOLX�'HOILQDV�9-68& /78 �������
�� /$,',1(16�$OHNVHMV �� 5ƯJDV�SLOVƝWD /$7 �������
�� .583,16�9MDFHVODYV �� 6.�6SDUV�0. /$7 �������
�� *52'6.,6�0DWƯVV �� $000 /$7 �������

'16 67Ɩ/6�$ODQV �� 5ƯJDV�SLOVƝWD /$7
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���\HDUV�DQG�ROGHU��:RPHQ

�� 6.Ɩ%(�$LJD �� 3.�&KDPSLRQV /$7 �������
�� 9$6.,(1(�$XGURQH �� 6LDXOLX�30�&XQDPLV /78 �������
�� 1(,0,6(9$�(OL]DEHWH �� 3.�&KDPSLRQV /$7 �������
�� '(9-$7.29$�,YHWD �� 3.�&KDPSLRQV /$7 �������
�� .8.8/(�,QQD �� 5ƯJDV�SLOVƝWD /$7 �������
�� =$,&(9$�9DOƝULMD �� 3.�&KDPSLRQV /$7 �������
�� .$/1,ƻ$�$QLWD �� 5ƯJDV�SLOVƝWD /$7 ��������

'16 .583,1$�1DWƗOLMD �� 6.�6SDUV�0. /$7
'16 .2167$17,129,&$�,ORQD �� 5ƯJDV�SLOVƝWD /$7
:'5 =(/7.$/1(�'LQD �� 5ƯJDV�SLOVƝWD /$7

���\HDUV�DQG�ROGHU��0HQ

�� -$1.$86.$6�0DULXV �� 6LDXOLX�30�&XQDPLV /78 �������
�� 2=2/,ƻ6�(GJDUV �� 3.�&KDPSLRQV /$7 �������
�� =2*/$�9LWƗOLMV �� 3.�&KDPSLRQV /$7 �������
�� %8.2176�$QGLV �� 9DOPLHUDV�3.�$TXD /$7 �������
�� %$%(/,6�(GXDUGDV �� 6LDXOLDL /78 �������
�� 5$6-8.6�9ODGLPLUV �� 9$6�/DWYLMDV�G]HO]FHƺV /$7 �������
�� 925212&.,6�-HYJƝQLMV �� 5ƯJDV�SLOVƝWD /$7 �������
�� .583,16�-XULMV �� 6.�6SDUV�0. /$7 �������
�� 2%2,6(96�6WDƼLVODYV �� 5ƯJDV�SLOVƝWD /$7 �������
��� .835,-$1296�9LNWRUV �� 5ƯJDV�SLOVƝWD /$7 ��������
��� .252%296�*HRUJLMV �� 5ƯJDV�SLOVƝWD /$7 ��������

'16 9$6,ƹ-(96�$OHNVHMV �� 3.�&KDPSLRQV /$7
'16 -$1.$86.$6�(GYLQDV �� 6LDXOLDL /78
'16 9(5'(1+2)6�$WLV �� 6DODVSLOV�QRYDGV /$7
'16 /$1*,16�1RUPXQGV �� 96.�1RVNULHQ /$7
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(YHQW�� ���P�)UHHVW\OH 2SHQ
������������������ ���P�EUƯYDLV�VWLOV 5HVXOWV

5DQN 1DPH <% 7LPH

���\HDUV�DQG�\RXQJHU��*LUOV

�� $36(1,(&(�$QQD �� -HOJDYDV�636 /$7 ��������
�� .8'(ƹ.,1$�9DOHQWƯQD �� 6.�6SDUV�0. /$7 ��������
�� Ɩ%(/(�1DGƯQD �� =LHSQLHNNDOQD�SHOGEDVHLQV /$7 ��������

'16 $36(1,(&(�/DOD �� -HOJDYDV�636 /$7

���\HDUV�DQG�\RXQJHU��%R\V

�� (51676216�.ULVWDSV �� 0ƗUXSHV�QRYDGV /$7 ��������

��������\HDUV��:RPHQ

'16 *$,'$0$129$�-HNDWHULQD �� %-66�5LG]HQH�=2/ /$7
'16 */,1.2�.DULQD �� -XUPDODV�SLOVHWD /$7

��������\HDUV��%R\V

�� 0,ƶ(/6216�.ULVWDSV �� 9DOPLHUDV�%66 /$7 �������
�� 9,/&$.6�$UYƯGV �� -HOJDYDV�636 /$7 ��������
�� .$+$129,&6�5LKDUGV �� 5ƯJDV�SLOVƝWD /$7 ��������
�� -$1.$86.$6�-XVWDV �� 6LDXOLX�'HOILQDV�9-68& /78 ��������
�� 3$+20296�/XNDV �� ƶƯSVDODV�SHOGEDVHLQV /$7 ��������
�� 69,/Ɩ16�(GJDUV �� .RNQHVHV�QRYDGV /$7 ��������

'16 02578=Ɩ16�(PƯOV�3DXOV �� 5ƯJDV�SLOVƝWD /$7

��������\HDUV��:RPHQ

�� 7,0(50$1(�'LƗQD �� -HOJDYDV�636 /$7 ��������
'16 =$ƶ(�(OƯQD �� 5ƯJDV�SLOVƝWD /$7
:'5 .2/,'=(-$�'DQD �� 5ƯJDV�SLOVƝWD /$7

��������\HDUV��0HQ

'16 %2.$�'HQLVV �� %-66�5LG]HQH�'61 /$7

��������\HDUV��0HQ

�� 3/$.$1,6�-ƗQLV �� 'DXJPDOH /$7 ��������
'16 -$1.$86.$6�(GYLQDV �� 6LDXOLDL /78
'16 9(5'(1+2)6�$WLV �� 6DODVSLOV�QRYDGV /$7
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��������\HDUV��:RPHQ

�� 6.Ɩ%(�$LJD �� 3.�&KDPSLRQV /$7 ��������
�� 9$6.,(1(�$XGURQH �� 6LDXOLX�30�&XQDPLV /78 ��������
�� 1(,0,6(9$�(OL]DEHWH �� 3.�&KDPSLRQV /$7 ��������
�� 678./(�/DXUD �� 5ƯJDV�SLOVƝWD /$7 ��������

��������\HDUV��0HQ

�� 58..$/16�$UWXUV �� %UƗƺL /$7 ��������
�� %Ɩ5'$�5LJROGV �� ƶHNDYDV�QRYDGV /$7 ��������
�� .$',ƶ,6�$UQROGV �� ƶHNDYDV�QRYDGV /$7 ��������
�� .27(/29,&6�$OHNVDQGUV �� 5ƯJDV�SLOVƝWD /$7 ��������

��������\HDUV��:RPHQ

�� *5$%$86.,(1(�$XVUD �� 6LDXOLX�30�&XQDPLV /78 ��������
�� .5$1.$/<7(�5DPRQD �� 6LDXOLDL /78 ��������
�� $/(.6$1'529$�1DWƗOLMD �� 3.�&KDPSLRQV /$7 ��������
�� 0,/,86�/LXGPLOD �� 6LDXOLDL /78 ��������

��������\HDUV��0HQ

�� -$1.$86.$6�0DULXV �� 6LDXOLX�30�&XQDPLV /78 ��������
�� 3(75296�,JRUV �� 5ƯJDV�SLOVƝWD /$7 ��������

���\HDUV�DQG�ROGHU��0HQ

�� =2*/$�9LWƗOLMV �� 3.�&KDPSLRQV /$7 ��������
�� %$%(/,6�(GXDUGDV �� 6LDXOLDL /78 ��������
�� .Ɩ5/,ƻ6�=DQLV �� 5ƯJDV�SLOVƝWD /$7 ��������

'16 2=2/,ƻ6�(GJDUV �� 3.�&KDPSLRQV /$7
'16 6,6/296�-HYJHQLMV �� ƶƯSVDODV�SHOGEDVHLQV /$7
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������������������ ����P�EUƯYDLV�VWLOV�9,66�$7ƹ$876�� 5HVXOWV

5DQN 1DPH <% 7LPH

��������\HDUV��0HQ

�� %85$9&296�.RQVWDQWƯQV �� 5ƯJDV�SLOVƝWD /$7 ��������
'16 %$.$1296�$OHNVHMV �� 5ƯJDV�SLOVƝWD /$7

��������\HDUV��:RPHQ

�� 0$5-(9,&$�-XOLMD �� )UƯGDLYLQJD�NOXEV��)UHH�GLYLQJ�OY� /$7 ��������
�� )2/.0$1(�/LHQH �� 5ƯJDV�SLOVƝWD /$7 ��������
�� '$1,/29$�$QWRQLQD �� 5ƯJDV�SLOVƝWD /$7 ����������

��������\HDUV��0HQ

�� =$5$.296.,6�(JLOV �� 5ƯJDV�SLOVƝWD /$7 ��������
�� .2&(7.296�9MDFHVODYV �� =RRUEDJDQ /$7 ��������
�� 327$3(1.2�$OHNVHMV �� )UƯGDLYLQJD�NOXEV��)UHH�GLYLQJ�OY� /$7 ��������
�� &+$5,.29�(YJHQ\ �� 6DLQW�3HWHUVEXUJ 586 ��������
�� (51676216�5DLYLV �� 0ƗUXSHV�QRYDGV /$7 ��������
�� '$1,/29�6HUJLL �� 5ƯJDV�SLOVƝWD /$7 ��������

��������\HDUV��0HQ

�� *8ƹ$-(96�9DGLPV �� *ROGHQ�<RXWK /$7 ��������
'16 926.5(6(16.,6�,JRUV �� *ROGHQ�<RXWK /$7
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,9�'DXJDYDV�NDXVV�SHOGƝãDQƗ�DWNOƗWƗ�ǌGHQƯ
5ƯJD�����������

(YHQW�� ����P�)UHHVW\OH 2SHQ
������������������ ����P�EUƯYDLV�VWLOV 5HVXOWV

5DQN 1DPH <% 7LPH

��������\HDUV��:RPHQ

�� 2=2/$�(OL]DEHWH�3DXOD �� 6WRSLQX�QRYDGV /$7 ��������
8=9$5Ɯ7Ɩ-$�6,(9,(â8�9Ɯ57Ɯ-80Ɩ���'$8*$9$6�.$866�,(*89Ɯ-$��

��������\HDUV��%R\V

�� $8'=Ɯ9,&6�-ƝNDEV �� -HOJDYDV�636 /$7 ��������
8=9$5Ɯ7Ɩ-6�9Ʈ5,(â8�9Ɯ57Ɯ-80Ɩ���'$8*$9$6�.$866�,(*89Ɯ-6��

�� $8'=Ɯ9,&6�3DXOV �� -HOJDYDV�636 /$7 ��������
�� 6$9,1296�'DƼLLOV �� %-66�5LG]HQH�'61 /$7 ��������
�� .583,16�9MDFHVODYV �� 6.�6SDUV�0. /$7 ��������

:'5 .2/(61,.296�'DQLHOV �� 5ƯJDV�SLOVƝWD /$7

��������\HDUV��:RPHQ

�� 6$/$-(9$�$QDVWDVLMD �� 6.�'HOILQV /$7 ��������
�� 7,0(50$1(�'LƗQD �� -HOJDYDV�636 /$7 ����������

'16 2=2/$�$JQHVH�3DWULFLMD �� 6WRSLQX�QRYDGV /$7
:'5 .2/,'=(-$�'DQD �� 5ƯJDV�SLOVƝWD /$7

��������\HDUV��0HQ

�� 6/,6Ɩ16�'ƗYLV �� 2JUHV�SLOVƝWD /$7 ��������

��������\HDUV��0HQ

�� 58..$/16�$LQƗUV �� %UƗƺL /$7 ��������
�� (1'2/6�(GLMV �� 6WRSLQX�QRYDGV /$7 ����������

'16 6.52'(5,6�*LQWV �� 5ƯJDV�SLOVƝWD /$7
'16 -$1.$86.$6�(GYLQDV �� 6LDXOLDL /78

��������\HDUV��:RPHQ

�� 6.Ɩ%(�$LJD �� 3.�&KDPSLRQV /$7 ��������
�� 9$6.,(1(�$XGURQH �� 6LDXOLX�30�&XQDPLV /78 ����������
�� )5(,9$/'(�$OLVH �� $FFHQWXUH�/DWYLMD /$7 ����������

'16 =Ɩ*$�-DQD �� ƶHL]HUPH]V /$7



6SODVK�0HHW�0DQDJHU���������� 5HJLVWHUHG�WR�6ZLPPLQJ�)HGHUDWLRQ�RI�/DWYLD �������������������3DJH��

,9�'DXJDYDV�NDXVV�SHOGƝãDQƗ�DWNOƗWƗ�ǌGHQƯ
5ƯJD�����������

(YHQW��������P�)UHHVW\OH

��������\HDUV��0HQ

�� .29$ƹ(1.2�9DOHULMV �� )UƯGDLYLQJD�NOXEV��)UHH�GLYLQJ�OY� /$7 ����������
�� =8'5$.6�0ƗULV �� 5ƯJDV�SLOVƝWD /$7 ����������

'16 )-2'25296�'HQLVV �� 5ƯJDV�SLOVƝWD /$7
:'5 &+$5,.29�(YJHQ\ �� 6DLQW�3HWHUVEXUJ 586

��������\HDUV��:RPHQ

�� 6,/,ƻ$�/DXUD �� 9DOPLHUDV�3.�$TXD /$7 ��������
�� 0,ƶ(/621(�$LYD �� 9DOPLHUDV�3.�$TXD /$7 ��������
�� *5$%$86.,(1(�$XVUD �� 6LDXOLX�30�&XQDPLV /78 ��������
�� .5$1.$/<7(�5DPRQD �� 6LDXOLDL /78 ��������

'16 0,/,86�/LXGPLOD �� 6LDXOLDL /78

��������\HDUV��0HQ

�� -$1.$86.$6�0DULXV �� 6LDXOLX�30�&XQDPLV /78 ��������
�� .$/61$96�*XQWLV �� )UƯGDLYLQJD�NOXEV��)UHH�GLYLQJ�OY� /$7 ��������
�� 6$5.296.,6�(GXDUGV �� 5Ɲ]HNQH /$7 ��������
�� 867,1296�9DOHULMV �� 6.�6SDUV�0. /$7 ����������

'16 $67$),(9�'HQLV �� =RRUEDJDQ /$7

���\HDUV�DQG�ROGHU��0HQ

�� 2=2/,ƻ6�(GJDUV �� 3.�&KDPSLRQV /$7 ��������
�� =2*/$�9LWƗOLMV �� 3.�&KDPSLRQV /$7 ��������
�� %8.2176�$QGLV �� 9DOPLHUDV�3.�$TXD /$7 ��������
�� %$%(/,6�(GXDUGDV �� 6LDXOLDL /78 ����������

2SHQ��:RPHQ

�� 2=2/$�(OL]DEHWH�3DXOD �� 6WRSLQX�QRYDGV /$7 ��������
8=9$5Ɯ7Ɩ-$�6,(9,(â8�9Ɯ57Ɯ-80Ɩ���'$8*$9$6�.$866�,(*89Ɯ-$��

�� 6$/$-(9$�$QDVWDVLMD �� 6.�'HOILQV /$7 ��������
�� 6,/,ƻ$�/DXUD �� 9DOPLHUDV�3.�$TXD /$7 ��������
�� 0,ƶ(/621(�$LYD �� 9DOPLHUDV�3.�$TXD /$7 ��������
�� *5$%$86.,(1(�$XVUD �� 6LDXOLX�30�&XQDPLV /78 ��������
�� .5$1.$/<7(�5DPRQD �� 6LDXOLDL /78 ��������
�� 6.Ɩ%(�$LJD �� 3.�&KDPSLRQV /$7 ��������
�� 7,0(50$1(�'LƗQD �� -HOJDYDV�636 /$7 ����������
�� 9$6.,(1(�$XGURQH �� 6LDXOLX�30�&XQDPLV /78 ����������
��� )5(,9$/'(�$OLVH �� $FFHQWXUH�/DWYLMD /$7 ����������

'16 0,/,86�/LXGPLOD �� 6LDXOLDL /78
'16 2=2/$�$JQHVH�3DWULFLMD �� 6WRSLQX�QRYDGV /$7
'16 =Ɩ*$�-DQD �� ƶHL]HUPH]V /$7
:'5 .2/,'=(-$�'DQD �� 5ƯJDV�SLOVƝWD /$7
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2SHQ��0HQ

�� $8'=Ɯ9,&6�-ƝNDEV �� -HOJDYDV�636 /$7 ��������
8=9$5Ɯ7Ɩ-6�9Ʈ5,(â8�9Ɯ57Ɯ-80Ɩ���'$8*$9$6�.$866�,(*89Ɯ-6��

�� 2=2/,ƻ6�(GJDUV �� 3.�&KDPSLRQV /$7 ��������
�� $8'=Ɯ9,&6�3DXOV �� -HOJDYDV�636 /$7 ��������
�� 6/,6Ɩ16�'ƗYLV �� 2JUHV�SLOVƝWD /$7 ��������
�� -$1.$86.$6�0DULXV �� 6LDXOLX�30�&XQDPLV /78 ��������
�� 6$9,1296�'DƼLLOV �� %-66�5LG]HQH�'61 /$7 ��������
�� =2*/$�9LWƗOLMV �� 3.�&KDPSLRQV /$7 ��������
�� .583,16�9MDFHVODYV �� 6.�6SDUV�0. /$7 ��������
�� .$/61$96�*XQWLV �� )UƯGDLYLQJD�NOXEV��)UHH�GLYLQJ�OY� /$7 ��������
��� 6$5.296.,6�(GXDUGV �� 5Ɲ]HNQH /$7 ��������
��� 58..$/16�$LQƗUV �� %UƗƺL /$7 ��������
��� %8.2176�$QGLV �� 9DOPLHUDV�3.�$TXD /$7 ��������
��� 867,1296�9DOHULMV �� 6.�6SDUV�0. /$7 ����������
��� .29$ƹ(1.2�9DOHULMV �� )UƯGDLYLQJD�NOXEV��)UHH�GLYLQJ�OY� /$7 ����������
��� %$%(/,6�(GXDUGDV �� 6LDXOLDL /78 ����������
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